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HTHTR AT A=l THUT T¥H : 100
% : 1 (TH) A TR 70T : 100
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(1) we JEgEreha 100 Aar 9v 3rda. SAearte yereh sw fafdvae geare weagdt o ywAgfeesd o
9 3R fra T arh @ B o, o T o FE A Sewead § SAgEIE TrashEed

TS FEE T N |
(2) e whEn-FEE T S R | L T
ferata "teraT ) f . .
| forgman e e ST 5

(3) T BT THYIETR HUTH JHAT Iabrerar fafirse Irft Iowaferadier gE-wa 3 Rrewar g wuar.
(@) (31) T Fgahdie Jois FeTen 4 warh Iw gafaelt s/gE W 1, 2, 3 onfh 4 9@ s fiwie anda.
1 AR IAUdh! Gt T ITUET HATH ITHIChaE GE-SHT JHT IUWOGRaL g wEr. S
PR ITUBRA ITCHHIS TG HAHT O Hafto TUERHISEER SEifed FEd Ui Jee arE
e TqTEY. FITERITAT Weh il YIS Sieraa Sratre, UfRer o wigs 9= 99w =3,
(@) amET T fawamedt wrdt SR et wrew fafee s ang. @ fawamn w s v wEt
TatH W Tyt arge g,

(5) T UHHI GUH TV 1A, IGd T T S T, ange I &R A8 AR Gl U3 w0
fadear SR T34 dieaEd. HAE T QIS0 STeR TR YU TRETET WY HAlT Seedrd AT 96 A
wreAfaar qdiel TPATehE Fosrd. AW YR Iaeed] TR dEeTHT 3 s fears wd gvm
FISee TThe T TR 3.,

(6) ITULFT U FE Ford IT WedT AR TE. WG HA IW Wigd TAH IR fewra A qurEet Ao
AT,

(7 wﬁmmﬁwﬁwmmmﬁmmmwﬁﬁmm
“sheam aEgfie agmath EEuen wvA Ree R Iwotd waie 9ra swe IwatEsd g
FEE. AT T ITUh Wefieesn T IR YA ITHTE! U T O S S

i £ A
ardblg

o TutAFaTE e fafgn Fereh do diada @ wvAgiteT srarme arerrmn omg | adiarersna agarTen
wiEETdl aTaw IvaTE I e, § ¥ wivda we yygferddt wa/wdt, fhar wer wwgferede e o
ENTEETE FEIT TEE AT AT SO S G, s afrg w5 g T sgA vk wdt o
et AT W Fee | wfiamed goren g aivey swaraEae sftfian-82” ardie madigEn
ARY TR AT TG HHATE F0GT T 216 o) ShETel Teh SToa] SHraarare et /fhar vaat
TS TR wehAat dgre g o g,

a0 g wrAutrhedt fafgn Fah Ao durmendt § gyagican AT ST g1 ggn T S T
T AT AP, 7eE ahgem wagdagerad sl afdt s saedfaeg sea aftfamger

HRETS HIOATT A3 A 2NdY et s o g, "
gadter 2rasar aestgiTadgser 31farsa gssras aar
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A 3 E04
1. g0 M 9GS g1 SN TH CWEE I1E & 3R ?

(1) wma 3t < (2) WA IO iR

(3) WRa Infor AreRw (4) va A sfiee

New Moore Island is a point of conflict between which two countries ?
(1) India and China (2) India and Pakistan
(3) India and Bangladesh (4) India and Sri Lanka

2 i Uy TeaTen Tasvhia magrETd! TR (A7) Iuey wed SUR uTdie afae

U4 B ?
(1) W yem (2) TEEH
(3) TR (4) WY

Which was the first State in the country to give right of NOTA (None of the above) to
the voters in the election of Local Self Government ?

(1) Madhya Pradesh (2) Rajasthan
(3) Chhattisgarh (4) Maharashtra

3. 1.1.2014 Ut wgRgd Figuicha Fagrie §41 gl
1) 950 FA
(2) 825 Hi
(3) 789 FA
(4) 675 A

Registered number of voters in Maharashtra as on 1.1.2014 were
(1)  9-50 crores
(2) 825 crores
(3) 7-89 crores
(4) 6:75 crores

Foe] BTG AFN | SPACE FOR ROUGH WORK P.T.0.
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E04 4 A
4, wreiter faue faema =

3. WI. TgUE AT fa€ge 2013 o 1 SHaET 2014 T A= el

q. RIS Il ARG Jq9gH, Fof F GEER J4md.

(1) faa[ o7 s :R, T g%

(2) faum & 9%, 9 =

(3) o ‘or anfor @ faum e

(4) [ o anft T fum I

Consider the following statements :

A.  Lokpal Bill 2013 was assented by the Hon’ble President on January 1, 2014.

B. Prime Minister, Ministers and Members of Parliament are within the
jurisdiction of Lokpal.

(1) Statement ‘A’ is correct, ‘B’ is false
(2) Statement ‘A’ is false, ‘B’ is correct
(3) Both the statements ‘A’ and ‘B’ are correct

(4) Both the statements ‘A’ and ‘B’ are false

5.  wWifgc TIeH [EHR, 2013 TdtErdt Fes s v S g ?

., Sl A SR

%. IHd AW S8

3. . faomw @

(1 A, (2) &,%,3 3y #,9,% 4) A, %, 2

Who were the members of the selection committee of Sahitya Akademi Award, 2013
for Marathi ?

A.  Dr. Sadanand More

B.  Dr. Nagnath Kottapalle

C. Vasant Abaji Dahake

D.  Prof. Vilas Khole

(1) A,B,C (2) B,C,D 3) A,B,D 4y ACD

oed] BERIET ST / SPACE FOR ROUGH WORK

www.adda247.com/mr | Adda247 'FITIB°rApp | https://t.me/Adda247Marathi


Dhruv Vashisht
Line

https://play.google.com/store/apps/details?id=com.adda247.app

A 5 E04

6. 2013 9 TS I & HioA [SHITEEA AW 3t ?
(1) gav
(2) wIGE
(3) Hfigiwe
(4) TEEw

Wherefrom was the Mangalyaan launched in 2013 ?
(1) Bhubaneshwar

(2) Bengaluru

(3) Sriharikota

(4) Hyderabad

7. Sifas G W@ TR Aggde @ielicieh vl TUeTal guay gl ?
A, TFEwerer snftt gt s .
B. i snfh 9%
C. E= TR i1 St el zfife.
D. it ¥ofict egra et svar g,
(1) Axfrp
(2) Banfr C
(3) Canfer D
(4) AsnfiD

Which of the following sites in Maharashtra figure in the list of World Heritage
sites 7 |

A. Shaniwarwada and Shinde’s Chattri.
B. Ajanta and Ellora.
C. Kaas plateau and Chhatrapati Shivaji Terminus.
D. Gurudwara in Nanded and Dnyaneshwar Samadhi.
(1) AandB
(2) BandC
(3) CandD
(4) AandD
FoedT FTIG! M / SPACE FOR ROUGH WORK P.T.C.
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E04 6 A
8.  ‘wifT ofs 2 JoR M TR ST WOR 0

(1) o fan g (2) WM. 3w W

(8) L. 3 9ma (4) . dt.um. g
Who has written the book ‘Planning and the Poor’ ?

(1) Dr. VM. Dandekar (2) Prof. Amartya Sen
(3) Dr. Narendra Jadhav (4) Dr. B.S. Minhas

9. g vl AR St S e g 3 2
(1) o "TRG-IH FHAT FRIAHL .
(2) 4 g T ifim weIgEaeRE 2013 9ed wi=a1 gEah Fag et
(3) A TRT M FEFN AIiEed-AHEHE TR fHasTe.
(4) e wE
Which of the following statements is true about Jhumpa Lahiri ?

(1) Sheis an ‘Indo-Pak Novelist’

(2) Her book was selected among the six final books for the Man Booker Award
2013.

(3) Winner of the Sahitya Akademi Award for the novel ‘Interpreter’.
(4) All of the above

10. TS O FEIMYT SATTET TR YAt SV TERT TTfishd TE hell TR ?
(1) fiwd Frags oA wiiee
(2) O HETFR dTfersht
(3) Hug WEFMM Wit
(4) BT HFR iR

Which Municipal Corporation in the country has taken the lead in implementing the
project of producing electricity from waste ?

(1) Pimpri Chinchwad Municipal Corporation
(2) Pune Municipal Corporation
(3) Mumbai Municipal Corporation
{4) Thane Municipal Corporation
FoeqT SIS ST / SPACE FOR ROUGH WORK
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A 7 E04
11. 6T HEEMAT JNESTand el he feeam 2uma Yo shuTe WHetaan 3Tg ?
(1) wsm (2) Bm (8) wehrieh 4) =R
Which of the following districts has come first in the country in effectively
implementing the Forest Rights Act ?
(1) Bhandara (2) Thane (3) Gadchiroli (4) Chandrapur
12, WENIYE @ gFeadicra T $3 FA JOR A1E 7
(1) AT (2) ot (3) u=s 4) W
Where will a Law University notf be established in Maharashtra ?
(1) Nagpur (2) Aurangabad (3) Mumbai (4) Pune
18, W et 120 et i v St Tl g 2
(1) —marer e (2) HERR
3) faem 4) faeTs gur
What is the 120th Amendment Bill to the Indian Constitution related to ?
(1) Judicial Appointments (2) Co-operatives
(3) Education (4) Election Reforms
14, . Tz IHBHTH TIAATdh! SN [ fafgd gt 2
(1) fF9R @ &0 (2) GmETfTs HgT
(3) fadfaga awrse (4) 3...8l29 FET !
Which bock has ret been written by Dr. Narendra Dabholkar ?
(1} Vichar Tar Karal (2) Samajik Shraddha
(3) Timiratun Tejakade (4) Tharala....Dolas Whaychach !
15. 3 U S yee SR aEa 20147 F3 weelt @t 7
L (2) e 3 @R (4) AR
Where was the National Agriculture Exhibition “Krishi Vasant 2014” organised in
the country ?
(1) Pune (2) Akola (3) Indore (4) Nagpur
FHoTaT HHTHTS! ST | SPACE FOR ROUGH WORK P.T.O.
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E04 8 A
16. UNSRHT=AT TuSEEadl @icid fauHET fa=am & -

IR, mmaﬁqawmmmﬁwﬁamﬁﬁsﬁwmmmw

Y.
e 9 po/wvr faue stiet amea ?
(1) *as H (2) o & M %
(3) a3 H, AN F (4) ot= wd

Consider the following statements about Sarpanch of a Gram Panchayat :
A. He is executive head of Gram Panchayat.

B. Convenes and presides over the meetings of Gram Panchayat.

C. Executes the resolutions and decisions of Gram Panchayat.
D

He can be removed from office by the Standing Committee of Zilla Parishad, on
the grounds of incapacity, misbehaviour and corruption.

Which of the statements given above is/are correct ?
(1) Aonly (2) Band Conly
(3) A,BandC only (4) All of the above

17.  TSY Siehadl JATERT=AT GEEATAT YEMET heT THTHHG @ieleiteh! v faam atst 71g7 ?
(1) @ FZ SAlbdar AR Sieay wgod Tgerdien ym sl
(2) @ AT TNehBaT AIIE wee TgvE Frgaiten o s,
(3) df T U ATRHaT IAHITET HeHe TgVT HYFdien o 37l
(4) dF T FIVCETE ToT AR AFTET 7Y T Frgerdien urF Toar.
Which of the following statements is not correct about a member of State Public

Service Commission on ceasing to hold office ?

(1) He is eligible for appointment as the Chairman of Union Public Service
Commission.

(2) He is eligible for appointment as a member of Union Public Service
Commission.

(3) He 1s eligible for appointment as the Chairman of that State Public Service
Commission.

(4) He is not eligible for appointment as a Chairman of any other State Public
Service Commission.

FHTEYT HHTATS! AT / SPACE FOR ROUGH WORK
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A 9 E04
18.  TSATA1 WRIUEEETd Gieadshl v faem s 778t 2

(1) e et sefm aeasarsar TsauTeThgd 2.

(2) rATHS TfacedT TTEl TEUH 9 TIEEhRT HRECI Tg 4.

(3) R 7fvT gt T AW dogl Al UAATHESIYS WYV FHF Tehel.,

(4) Tafigern T & nagH FE AEAT,

Which of the following statements is no# correct about the Advocate General of a

State ?

(1) He is appointed by the Governor of the concerned State.

(2) He gives advice to the State Government on legal matters referred to him.

(3) He can address the State Legislature as and when required.

(4) He has the right to vote in the Houses of Legislature.

19. @ foeen wiEtdl awaren gae e Fases Uik gaie sedld IEae hivd
weeEq frofr fest 2
3. gl S aefrEr 9.
9. EVM T anfor qaufieeat ‘NOTA’ (amdshl $viidt T8 i,
%,  Tasus sfwgus.
3. TRy g seren e dug wew (W), Use fafudsern wew
(HAHER) 39T STAV/3TTE ST,
(1) 31 %ad (2) 31 a7fig
(3) 3,9, % (4) Famfrg

Amongst the following which of the recents judgments of the Supreme Court of India
were related with the reforms of electoral process ?

A.  Use of electronic voting machine.

B. ‘NOTA’ option in EVMs and on ballot paper.

C. Election Voting Identity Card.

D. MP’s, MLA’s to be disqualified on the date of ¢criminal conviction.

(1) Only A (2 AandD
3) ABC (4) BandD
aeegy mm { SPACE FOR ROUGH WORK P.T.O.
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E04 10 A
20. 4 sfww, qAEE yrgyRar onft A AreEn FEE — 2013 AU @efie ®geran e
W-

iy srfimgomard wefta vd Sasm—ar= GRdl FvEE I,

3.
¥, rfumda Foeh it g awfeda aToa el T W e WiewTen T el .
®. QAR Yy AR war A

3. gt ST uft STerkre SRMET 91 TN, A e W g B fe s,
e faumriehr /R e st R ?

(1) has 3 o7fT § (2) de = a7 %

(3) e % 0T g (4) ¥, &g

Consider the following provisions in The Right to Fair Compensation and
Transparency in Land Acquisition, Rehabilitation and Resettlement Act, 2013 :

A.  The consent of all the concerned farmers is essential to acquire the land.

B. If the acquired land remains unused for five years, it is to be returned to its
oOWner.

C. The land will be acquired after rehabilitation only.

" D. The compensation paid to the land owner will be four times market value in
rural areas and two times in urban areas.

Which of the above statements is/are correct ?
(1) AandBonly (2} B and C only
(3) OnlyCand D (4) B,CandD

21. wrefid faummn fo=m o
. B fam. TEw g g wibdE sty g
3. off e, @ieH I gitde Tee Bid.
(1) & ST 3T (2) o SR AR
(3) =139 IR qUST 3med (4) 319 9 Tral b 32T
Consider the following statements :
A. Dr. B.R. Ambedkar was the Chairman of Drafting Committee.
B. Shri H.J. Khandekar was the member of this committee.
(1) B is correct (2)  Aiscorrect

(3) A and B both are correct (4) A and B both are wrong
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22.

1
Ffie v Fre deda gt # -

¥, SEHe-Usa Wi
%, TS AgH Wid vt

s, Wi gt

H L] Ed B
(L Iv I I I
2 1 oI m v

3 II I v III

4 M v I 11

IL.

I11.

V.

292

93

389

Match the following as per ‘Cabinet Mission Plan’ :

A. Total members to be elected

Representatives of the Princely States

B
C. Representatives of High Commissioners’ Areas
D

Representatives of the Provinces

A B C D

(M IV I I 1
(2 I 1o m IV
3 I I IV Il
@) I IV I It

IT.

I1L.

E04

292

389
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E04 12 A
23,  Jevdbrehed @il avit anfor fagm a=h Jeoofi &0

¥}, TS e I.  9&q IE™ wrig

¥, SR U Je=ta Hond a II. =g, yrref)

%, IehY MH-HEA III. .ug. gsh

T, ST YRR ol UF HaH WHe V. o= 3§, Feae
ki El E3 S

(1) I 1v I Il

2y 1 11 nm 1w

4y 1Iv 1III 11 I

Match the following scholars with the way they described the Preamble :

A. Political Horoscope I. Pandit Thakurdas Bhargava
B. Mystic Principles of a Welfare State II. M.V. Pylee

C. Superb prose-poem III. K.M. Munshi

D. One of the best of the kind ever drafted IV. Acharya J.B. Kripalani

2y 1 II nr v
3 1I I v I

(40 IV 1l II I

o= SIS ST { SPACE FOR ROUGH WORK
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A 13 E04
24, muy Hudfien gEid Rum=n = s

F. 7 vEEd TRiE g9 HEERR AR,

q. 735 TSIUeT gei el Tetedsh A TH e IR

F.  TTRENd, YIHTETC] 81 dRGe FOTA1 § U HAgRIE §HE B,
3. fofia aufned wromsren arsswHeaTsar drmam.

et HTA/HH! U wUe s ?

() s A

(2) *ds F M F

(3) haes 3, § foT &

4) fa s

Consider the following statements about Gram Sabha :
A. It constitutes the lowest tier in the Panchayati Raj.

B. It has become a statutory body by the 73" 4 Constitutional Amendment.

C. Gram Sabha consists of all the eligible voters living in the area of Gram
Panchayat.

D.  Four meetings of the Gram Sabha are to be conducted in the financial year.

Which of the statements given above is/are correct ?
(1) Aonly

(2) Band C only

(3) A, BandC only

(4) All of the above

HEEg] HHTATST STAT / SPACE FOR ROUGH WORK P.T.O.
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E04 14 A
25. TSI ISR § AUHR U FO et et Jesoft 1

7. faum w99 aie-3feam smdi=a o I. 161
gcrei fagadft % sreaara

g, TSUEEHRE aife SgreEd e gayR art II. 207
FHOAE G

%, fourae sifadaes aievar frera o 1. 202

T o A crafavare fRivtasr” e V. 333

(1) v 11 il 1
2 1 1I I11 v
3y II IV I I
4) 11 [ v IiI

Match the powers of the Governor with the Articles conferring those powers :

A. He can nominate one member of Anglo-Indian I 161

Community in Vidhan Sabha

B. e causes the annual budget of the State II. 207
Government to be laid before Vidhan Sabha

C. 'To recommend Money Bills to be introduced in Vidhan Sabha III. 202

He has ‘prerogative of mercy’ IV. 333

A B C b
(L IV I i I
2) 1 iI IIT v
(3 1M 1w I II
4) 1I I v III
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A 15 E04
26, RISl U AT HIGHATER fos

%.  gEauEw

g faud Tans afwg

(1) %, 3,8 (2) 8, %, 9, 3
3) #, 8, %, ¥ (4) 9,8, %

Arrange the following events in their chronological order :
A.  Establishment of Socialist Party

B. Patna Session of the Congress

C.  White Paper

D. Third Round Table Conference

(1) C,B,AD (25 D,C,B,A
3) ADC,B 4y B,A,D,C

27, fudw dw sfem Sudi wnarde smmiaygs Teded SR SEmES AYERE AT ?
(1) 1793 <1 T4 &R
(2) 1813 =1 944l H13g]
(3) 1773 =1 FHEwaT= FRQ
(4) 1858 ©T URATSHT GITHATET HRI

Which of the following Acts ended the trade monopoly of the British East India
Company in India ?

(1) The Charter Act of 1793

(2) The Charter Act of 1813

(3) The Regulating Act of 1773

(4)  Act for the better Government of India of 1858

ooyl FTHTATS! 19T / SPACE FOR ROUGH WORK P.T.O.
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E04 16 A

28. 1890 "l THA hetodt UPE whe fifew At med qhia S v sl wewnh wiew
By ?

(1) grems A0S, A e, sTeal, Ifem, giag

(2) I, g, 3wy, i, gad

(3) 7, {ews, huaw, sgal, AEH

(4) 4d, gH, F5a1, ANH, Haad

Whe from amongst the following had participated in the British Committee of
National Congress, that was established in 1890 ?

(1) Dadabhai Naoroji, Lokmanya Tilak, Bradlaw, Adams, Howard

(2)  Yule, Hume, Adams, Norton, Howard

{3} Hume, Tilak, Campbell, Bradlaw, Norton

(4)  Yule, Hume, Bradlaw, Norton, Compbell

29, @il 1935 <A1 URA SERI=AT SRR Ay sierdi ?

H. T @R

= A 3£ 1 B I [

. hald fgad Ueaagdt

T  IF U AEeH OH wEe qee

(1) 37 anfor 3w (2) #, &, S Bad
(3) 3,9, %HATUE (4) § M1 & herd

What were the important features of the Government of India Act, 1935 ?
A.  Provincial Autonomy

B. Federal Court

C. Dyarchy at the Centre

D. Bicameral Federal Legislature

(1) AandDonly (2) A,C,Donly

(3) A,B,CandD (4) B and C only
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A 17 E04
30. e @rEE IUET ang gt e
¥, WS e I wfgsh
9. oftSf. e 1. 3y
%, ff.om. B .
g = e v. o
H C] % €
(O 1I I IIL v
(2) 1III I v IT
3 Iv IT I 111
4) 1II v 11 I
Match the pairs and choose the appropriate answer option.
A. M.G. Ranade L Jamkhindi
B. G.G. Agarkar I1. Tembhu
C. V.R. Shinde III.  Pune
D. G.H. Deshmukh IV. Niphad
A B C D
(1 1II | 190 v
(2) I I v I
3 IV IT I 1
4) I v I I
31. ‘vigm weEst fndlm gba faum siear.
(1) ‘“WReEe sfon giraearsh seme
(2) ‘F I A e 9w
(3) Tubm fawen feamendl Foe’, Bdwes
(4) = FEEgd FW3-RE @ ved 9w

Identify the wrong statement about ‘Pandita Ramabat’.

(1
(2)
(3)
(4)

Establishment of ‘Sharda Sadan’ and ‘Mukti Sadan’

Wrote about women in the book ‘Strikosh’

‘Kripa Sadan’, ‘Preeti Sadan’ for the shelterless widows

The honour of ‘Kaiser-e-Hind’ was conferred on her in recognition of her work
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o i, AT gyt TR - T L s T

E04 18 A
32, e eqd e A9 gafy faer.

3, ifgw wRd g8 g wom I. 1936

¥, rfEw wnida fem g II. 1920

&, firofi s g III. 1918

T, HEHGETE IFHIREA e STHIFHTIH IV. 1928
3H o % g

() 1II I v 111
(2) 11 1 I I
3) 1I I 11 v
4 1 IT v IT1
Choose the appropriate option by matching the pairs.

A. All India Trade Union Congress L 1936
B. All India Kisan Congress II. 1920
C. Girni Kamgar Union III. 1918
D. Ahmedabad Textile Labour Association IV. 1928

A B C D
(1) 10 I v 111
(2 I I II
3) I I I v
4) I IT v I

33. e oW gt &7 sem1 wram e 2
(1) 1926 Wed, JegT TRIST Y& TrATdiel Aol SgAd THIT.
(2) 1929 7L, FHA ot AT AnTft FrEk et @,
(3) 1932 W, ATHNA ST JREEl MYd ot degl.

(4) 1939 ued, fef wmifas megE YA oFed, =T fiy YR WA s

When did the Muslim League celebrate ‘the Deliverance Day’ ?

(1) In 1926, when Swaraj Party lost its majority in the Provinces.

(2) In 1929, after the declaration of the demand of Complete Indpendence by the
Congress.

(3) In 1932, when the Congress was declared illegal by the government.

(4} In 1939, when the Congress ministers in the Provinces resigned as a protest
against the inclusion of India in the Second World War.
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A 19 | E04
34. vy A Frort srRl/Bie et 1857 =1 33wt vada gt/ iy 2

H, VS T WS

q.  ITfon Afdem

% TGS

T wifviwE g i

(1) 31 AT & e (2) = anfth 3 %
(8) #A,9,F (4) T%H

Which of the following persons, is/are not related to the Revolt of 1857 ?

A. Bhagwantrao, the king of Peth

B. Ajijan Dancer

C. Gulmar Dube

D. Gulabsinha, King of Kashmir

(1) AandBonly (2) BandD only
(3) ABC {4) Donly

35. g Yl Hiven M f.2. WeREH FHS GUReaTETE e ?
T, Y-S Ui UHA HISHTY HRH AN,
&, ST feEmE dieare 9.
3. unia hoedr fegn T fig umia dvarardl et Sede Teeed.
(1 A, (2) ¥ % (3 w,Fafrg (4 FHawd
What is attributed to V.D. Savarkar to reform the society ?
A.  Arranged Haldi-Kumku programmes for the ladies of different castes.
Arranged common meals for the touchables and untouchables.

B
C. Encouraged inter-caste marriages.
D

Undertook purification programmes for those Hindus, who were converted and
wanted to be taken back in the Hindu religion.

(1) AC (2) Bonly (3) B,CandD (4) All of the above
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= TR At L e o Frii

E04 20 A
36. T fert S o fredide foratar st wE gE el 7
(1) s et (2) Sged <fed
(3) SETS WeHt (4) qBEETE FER
Who, from amongst the following women, started the first night school for women in
Vidharbha ?
(1) Nandatai Gaoli (2) Jaibai Chaudhari
(3) Venutai Bhatkar (4) Tulsabai Bansode
37. 19 =M yaHWe R giagmrE ufgeaer snfds et wioft Aigeft Heft o 7
H. g AR AR o O o
%. UOY=EE o 2. ARH. agmEr
() FA%F (2) & i 7 P
(3) H, g F (4) & 30T T Hard
Who looked at the Indian History from the economic point of view for the first time
in the 191 century ?
A. Dadabhai Naoroji B. Justice M.G. Ranade
C. Romesh Chandra Dutt D. R.C. Majumdar
(1) Aonly (2) Aand B only
3) A, BandC (4) A and D only
38. Greah wghg faum e

(1)  Tgas w9 1885 7 HIeh.

(2) ugEid ufgs sf@w oo 39w 8N,

(3) TgEUN % 3o B BN

(4) ST AEEGE TEEHA JTE €8 Hgl Tl

Identify the incorrect statement from the following :

(1) National Congress was founded in 1885.

(2) First Session of National Congress was held at Pune.
(3) Allen Hume was the father of the National Congress.

(4) The members of the National Congress had a strong faith in the British sense
of justice.
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A 21 E04

39. Y& el Frergen weeft

= M L

9. 9EEd FEIA

F.  getud HugH

T Wi fggaeme ggd

(1) A, 9,5, 3 (2) & &, 9 A
(3) B, 9,%, A (4) 9,%, 3,3

Arrange the following events in their chronological order :
A. Nehru Report

B. Simon Commission

C. Muddiman Commission

D. Provincial Dyarchy System

(1) AB,C,D 2y D,C,B,A
(3) D,B,CA 4) B,C,AD

40, ‘3 72 Raforr’ I qEas @ i ?
(1) 37T Wier
(2) 3THIH wEAT
(3) . W W
(4) .. dEe

Who is the author of the book ‘The Great Rebellion’?
(1) Ashok Kothari

(2) Ashok Mehta

(3) Dr. S.N. Sen

(4) V.D. Savarkar
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41, WINPT GTeeidsh! ST Tl AIBIH JTHhgA SfAUhg FTgd ?
(1) (2) AFTm (8) T (4) Fom

Which of the following rivers flows almost from north to south in Maharashtra ?

(1} Tapi (2) Vainaganga (3) Narmada (4) Krishna

42. TERIYS U 1@ AT 9 feg i sisar o,

T fores
#A TE I U, @SR
CAE = O 1. THRR, go
E 1. =rimes, smEd
ERE CUIC] IV. 3HHEE, J9q91S
< q % g
(1) 1o vV | I
2y 1 II v I11
(3) 1I I IV 111
4y IV 110 II I

Match the districts with talukas in Maharashtra having similar names.

Taluka District
A. Khed I Raigad, Ahmadnagar
B. Karjat II.  Ratnagiri, Pune
C. Kalamb III. Nashik, Amravati
D. Nandgaon IV. Usmanabad, Yavatmal
A B C D
(1 1 v I 1
2y I II v I
(3) II 1 v 1Tt
4y IV 111 II I
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A 23 E04
43. Eeld AEdde T e Joar 3 wrelt fieiem adide R g w1ty fae

B3F JHR 77
S I SR
g, WEad II. v
. HEEM IIL.  gRamn
g fefidE IV. Td
A CEE 3
(1 I 1I IT1 v

(2) II I v I

(4) III I v I

Match the following pairs correctly using options given below the list :

Type of Buffaloes State
A. Murha 1. Uttar Pradesh
B. Bhadwari II. Punjab
C. Mahesana 1I. Haryana
D. Niliravi IV. Gujarat
A B C D
(1) 1 1I I v

2y I I v I
(3) 1II v I 111

(4) 1II I v I
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E04 24 A
44, G IENLT AT A Jesa1 9 Wi fsien Ardde wahmyE I 3w feen

forz FeToTe (X &)
¥, faggt I 932
§. TR II. 927
F. I 11, 1136
g TR V. 1079
H q <h E

(1) 1 II 11 v
2y 1 I11 v I
3 III 1iv 1 II
4 v Il I I

Match and select the correct answer using the options given below the list.

District Sex Ratio (per thousand)
A. Sindhudurg I. 932
B. Ratnagiri II. 927
C. Nashik ITI. 1136
D. Nagpur Iv. 1079

A B C D
(1 1 11 II1 v
(2y II I1II IV I
3y mr 1 I I
4y IV I II 1

45,  YRATdS ST UM TR $S61 3 TguaTd ?

(1) @d samug (2)  STATER SfshaT O JeHTURT
(3) g 3Nfdr dierg SgITEE (4) faite seim

Which of the following industries in India is known as ‘Sunrise Industry’ ?
(1) Fertilizer Industry (2) Food Processing Industry
(3) Iron and Steel Industry (4) Cement Industry
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46.
(1)
(3)

YeaTad

AT AR

25

EO04

G HI0AT T2 MAT=AT asg WFTe fEaierd Ty gsvamE wrviig 3@ ?

(2) ufgaft =shama
(4) T O

Which of the following factors causes rainfall in winter in north-west part of India ?

(1)
(3)

Anticyclones

Retreating monsoons (4)

(2) Waestern disturbances

South-west monsoons

47,  geud i @ S giT T Sies o

G

(1)
(2)
(3)
{4)

Match the following waterfalls with their places :

O awr

(D
(2)
(3)
(4)

II I
v I
I v
It I

Waterfall
Marleshwar
Thoseghar
Sautada
Randha

A B

II 1III

Iv 1III

1 v

I I

e
I  wEm
. TR
III. 31EHETR
Iv. g
< S
I IV
11 I
nr 11
IV I

Place
I. Satara
II. Ratnagiri
ITI. Ahmadnagar

IV. Beed
C D
I v
II I
II1 II
v 111
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E04 26 A
48. TYHE WEMW ®. 6 9 7 @RI ST e THEEHAT S¢ard ?

(1) v (2) 2uaETRg

(3) AR (4) WL

In which of the following cities do National Highways No. 6 and 7 cross each other ?
(1) Bhopal (2) Hyderabad

(3) Nagpur (4) Raipur

49. Grefta snfeamdt ST e TRvETe WeIHER Sedl Jedl o Wield Ty T IW

e

§g@ 3TArE] ST TETT HFATT J577

A g 1. smuEd faes

q. oftg L 3 faesl

F. FG 1. 4= 9 Agem fied

T arE IV, <iz@ & meRreh e
3 T % g

m I IV

2y It I v I11
(3y 1IImr 1 II I
4y Iv I I IT

Match the following Adivasi tribes with their areas of settlement correctly from the
options given below :

Major Adivasi tribes Areas of Settlement
A, Gond I. Amravati district
B. Bhil I[I. Thane district
C. Korku III. Dhule and Nandurbar districts
D. Warali IV. Chandrapur and Gadchiroli districts

A B C D
(1) 1 II I1I v
(2) 1II I v I1I
(3 II IV II I
4y IV 1l I II
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A 27 EQ4
50, Wl U= foer &4

a1, gal 9 wnt i@, gad, e 3 Fiawar @ wy@ weu ded.
¥,  Suefm iR (ant) Yeme gy e,

Fldh! HIvd fergm/faam St ang/aRd ?
(1) 3 %dd (2) 9 %agd
(3) T ER (4) ¥ 99 3E T

Consider the following statements :

A.  The Golden Quadrilateral connects the four major cities of Delhi, Mumbai,
Bengaluru and Kolkata.

B. The North-South corridor passes through Hyderabad.
Which of the statements given above is/are correct ?

(1) Aonly (2) Bonly

(3) A and B both (4) Neither A nor B

51.  PHT=H THeH WIelerdehl HIue Idd T 318 ?

(1) faawm (2) HEYE T

(3) wUHA T (4) g wn

Kaimur hills is situated in which of the following mountain ranges ?
(1) Vindhya range (2} Satpura range

(3) Karakoram range (4) Kolli hills

52. @eha faammen faem 4
. udea vEdia fafqy yere Gew T o i G @ 9 39 g AR
T I
9. oo ydare Rt e wEe 52 8.
TR Hivrd form/faum SR ame/emga 2
(1) ed A (2) wF 9
(3) & Imfor 5 A @) & 99 R A
Consider the following statements :

A.  Fold mountains are known for variety of rocks structures, deep gorges and high
pyramid peaks.

B. Tensile forces contribute to formation of the fold mountains.
Which of the statements given above is/are correct ?

(1) Only A (2) OnlyB
(3) BothAandB (4) Neither AnorB
ToegT HTATATS! I / SPACE FOR ROUGH WORK P.T.O.
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E04 28 A
53.  SEI e

faes I (o)
A g I 728
q. AR II. 884
%, TgER LIL 644
B IHUEd IV. 874
H Ci h S

(1) 1 v III 11
(2) 1 v I [
3y I IT III v

4 IV 10 111 I

Match the following :
District Literacy (%)
A. Dhule I. 728
B. Nagpur II. 884
C. Nandurbar III. 64-4
D. Amravati IV. 874
A B C D

(1y 1 v 111 II
(2) 1I v I III
(3) I 11 III v

4 1Iv 1 i1 I
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A 29 EO04

54. el faum foemm wn
q. I TR g SR =R (NAFTA) 1994 arelt sifeard a1
¥, % 8 NAFTA =1 G50 Hewids! U 8.
il won R/ g R/ ?
(1) % A (2) wFad .
(3) & arfvr & =l 4) o onftr 7 S e

Consider the following statements :
A. North American Free Trade Agreement came into force in 1994.

B. France was one of the founder members of NAFTA.

Which of the statements given above is/are incorrect
(1} Only A {2) Ounly B
(3) Both Aand B (4) Neither A nor B

55. fogdacia gesha Sramed @efets Hvm g siw @) 2

3. I T .

4. A I B,

®. TR U MU R o1,
T, UHIE THREN JEE A9
(1) %=a A

(2) a3, F AT

(3) %FF &

(4) %9 9 A F

Which of the following features of Tropical Evergreen forests is/are correct ?
A. Very dense forest.

B. Trees shed their leaves annually.

C. Timber is hard and durable.

D. Lack of pure stands.

(I) OnlyA

(2) OnlyA,CandD
(3) OnlyC

(4) OnlyBandC
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EO4
56.

30

EIEZICHE
eI 7z T
A, WALA S wEg I 2002
¥, Wyl FE L. 1969
1. 9&7onfl SR g &
IvV. wqyifasers T ai< saren feht
A q

(1) II 3P 101 I aqfor IV
(2) IIsufmIv I 31fo7 111
(3) 1 amfor I I1 37t IV
(4) TamfrIv 1T 3oy 111

Match the following :
Group A Group B
A. MRTP Act L 2002
B. Competition Act II. 1969
ITI. Unfair trade practices covered
IV. Competition offences defined
A B

(1) 1II and III Iand IV
(2) IMTandIV I and I1I
(3) TandlIIl ITI and IV

(4) TandIV II and ITI
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A 31 E04

57. 2008 — 09 uisfi qerT heft 1@ 2012 — 13 @il YraTdie 2004 — 05 = fhudier amurfa
IR T@ I e fafay g agardie vaR () @refte s faeg A

. i sarre aream (few) we wwedl.
& UM ST 9 a9re el
%. 4l §ATAT FEIE 918 .

Fierteh! iora faam/fag sge oeq 2
(1) ¥ B (2)  3nfo % wad
(3) a1 AV & g (4) ¥, gafrs

In India, in the year 2012 — 13, as compared to 2008 — 09, the changes in the share of
different sectors in real Gross Domestic Product based on 2004 — 05 prices show the
following trends :

A. The share of agriculture sector has declined.

B. The share of industrial sector has increased.

C. The share of service sector has increased.

Which of the statements given above is/are correct ?

(1) Aonly (2) BandC only
(3) A andC only (4) A,BandC

58. wra T Fdwss 1 andier Wl F9m /19
A, & anfor FRRft s
. Wi AnERd=AT geuTdte M.
%, QG W@ dhaead! ghan.
(1) A wd 3, F oo % (2) 1 T % e
(3) & I % Herd (4) ¥ M & Fad
Human Development Index measures average achievements in
A. Long and healthy life.

B. Knowledge in terms of adult literacy.
C. Percentage of population below poverty line.

(1) All the A, B and C above (2) AandConly
(3) BandC only (4) AandBonly
Foeg] HHRAS! AR / SPACE FOR ROUGH WORK P.T.O.
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59. @il Hivd faum A o 2
A T 2011 - 12 9L TR TAG SeAGATd Ha & e 59% uae g
¥, TSUeRY, SATGHITaS WAl M I AT I gL IMEed el .
(1) 31 wad T 3R (2) ¥ %od TU M
(3) 37 iy & St sAeR 3TRd (4) 31 anfr 5 St I IR
Which of the following statements is correct ?

A. The share of services in GDP was 59% in 2011 — 12.
B. High growth rates are witnessed in communication, business services and

finance.
(1) A only is correct (2) B only is correct
(3) Both A and B are correct (4) Both A and B are incorrect

60. 3. vuEEA ToFR fmin wEEE (PMEGP) sitre 2008 Hell & 09 3Tl

. PMEGP 3icid Jmioy/srstt wme e IOn v HugrEn aq el

F.  IUEEE TR A (PMRY) € PMEGP 7 faefa aeft 71efh.

(1) 3 %ed aUar IR (2)  H AT § Ford WU 1R

(8) % Hud SO IR (4) =1, 9 M F T AU AR

A.  Prime Minister’s Employment Generation Programme (PMEGP) was started in
August 2008.

B. PMEGP aimed at setting up micro enterprises in rural/urban areas.
C. Prime Minister Rozgar Yojana (PMRY) was merged with PMEGP.

(1) A only is correct (2) A and B only are correct
(3) C only is correct (4) A, B and C are correct

61. TSY AN UgHEE JEradeh! iva H14 Hila 7187 7

¥, R aegen Taidie dearg 2o,

. UG aeqear fRide Treams 2o,

g, afieish Hivagd T

(1) FAAMITBR (2) &5 (3) A AT &H HFd (4) T HH

Which of the following functions is not performed by ‘State Trade Corporation’ ?
A. Toincrease the production of exportable goods.

B. To promote the export of traditional goods.

C. To promote the export of non-traditional goods.

D. None of the above

(1) AandBonly (2) Bonly 3) AandConly (4) D only
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62. SA @@
e 3 T

H# Te L. 1986

¥, e Bl 1. 1993

%, o T I 1948

s foma = wwen IV. 1995

3 o D g

(L M 1 11 v

(2) 1III | v II

(3) lII I v 1

4) 1V ITL I I

Match the following :

Group A Group B

A. GATT I. 1986

B. Uruguay Round II. 1993

C. Dunkel Proposal II1. 1948

D. WTO IV. 1995

A B C D

(1) 1II I 11 v

(2 M I v II

(3) 111 11 I\Y 1

4) IV I1 II 1
63.  THHW T YRON FEET QH TR A HOAT Il

(1) 1961 990 T 1962 FaT (2) 1971 w1 & 1972 7R

(3) 1972 W= T 1972 TR (4) 1982 991 § 1982 TR

Ceiling on Land Holdings Act was applied in two stages.

(1) Upto 1961 and after 1962 (2) Upto 1971 and after 1972

(3)  Upto 1972 and after 1972 (4) Upto 1982 and after 1982
FoedT HTATATS! \FTT / SPACE FOR ROUGH WORK P.T.O.
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34 A

64, @Al faumren faawm w50

912 T Tt S S 9 FT HUH gEam.

F g faQuTclie | FemmEed Wy g,
fato aduumerehdeme= T,

¥ 37T § 77 S A GAfdeled F IR ITed

3 e gt T sht GHION TR

9 B B TEAITA T GURIT AR

¥ M0 |/ A % A FAfAeA Aga

Consider the following statements :

A,
B.
C.
(1)
(2)
(3)
(4)

Introduction of Direct Tax Code and Goods and Services Tax.
Clear Policy on General Anti Avoidance Rules.

Committee on Financial Inclusion.

A and B are proposed tax reforms recommended by C

A only is a proposed tax reform

B only is a proposed tax reform

A and B are not recommended by C

65. AT HUAWO HUIE WIATAYH RV IYE JEE 78T ?

(D
(2)
(3)
{4)

antfsfer faepranErd) fadsgace s

Which of the following is not the modern objective of deficit financing ?

(1
(2)
(3)
(4)

Provision of funds for economic development
Provision of credit for planning
To pull out the economy from depression

Supply of credit for development programme
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A 35 E04
66. geia faurmen faem U

A, T i URor 24 IR, 1991 TSt TER HS T4

¥, et A SapmEdt Rifdaush g feemaE e

(1) S TNRT T IH AR (2) 1 OO T T RO AR

(3) & WU R 31 I M2 (4) 91 NfYr § 3 THHHIN Fetud e

Consider the following statements :

A. New industrial policy was announced on 24t July, 1991.

B. Disinvestment policy was adopted for the public sector enterprises.

(1) Ais correct and B is incorrect (2) Ais a policy reason and B is a result

(3) B is correct but A 1s incorrect (4} A and B are not related with each other

67,  gfbeprel Y HHE IEEHar U

(1) i dwh @ it

(3) el wardt (4) R s

‘Zero Marginal Productivity’ of labour means

{1) Technological unemployment (2) Disguised unemployment
(3) Underemployment (4) Seasonal unemployment

68. ‘TigaEd EHZT=AT SET IV FHGH W FHT ATE B YElidsh! ST 7d TR ?

¥. @il fawre

1. ifr meft

.  UR.T™. @WifEeE

R = s B

iy

(1) 1 %o (2) & anfor % %ua
(3) & % (4) = oY1 € wad

‘We can’t live happily as islands in a sea of poverty’ is the opinion of
A.  Swami Vivekanand

B. Sonia Gandhi

C. M.S. Swaminathan

D. Dr. V.M. Dandekar

Options :
(1) Aonly (2) B and C only
(3) Conly (4) CandD only
HTYT HETATS! ST / SPACE FOR ROUGH WORK P.T.O.

www.adda247.com/mr | Adda247 'FR'Ifprp | https://t.me/Adda247Marathi


Dhruv Vashisht
Line

https://play.google.com/store/apps/details?id=com.adda247.app

E04 36 A
69. 2013 - 14 = WA AYHFCI A THIY TR TAHNE G YA TR IeqreAr
4-8 gferrd wda AsIgES wt A O TR ey w0 anfiE B
&, FrigevEe mite stfie srem 3.
q. T ET ST GUEEYT S Wt 31fies =Ter <.
&, AdugEAEdE @ wu wO.

Fhatr For foum/faur stet 3med 2
(1) 31 %Fd (2) 9 a1for = waa
(3) 3 Ifor & werd (4) &, 9 M H

The planned reduction in the Gross Fiscal Deficit to 4-8 percent of Gross Domestic
Product in 2013 — 14 Budget Estimate of India, is expected to be achieved through
following efforts :

A, Higher mobilisation of disinvestment proceeds.

B. Higher mobilisation of tax-revenues and telecommunications receipts.
C. Reduction in expenditure on subsidies.

Which of the statements given above is/are correct ?

(1) Aonly (2) BandConly

(3) AandC only (4) A,BandC

70, 9@ ®IvE faum I o ?
. gRawH 96 FISA WIaH U S PL-480 I1 SREIER helft gid.
¥, PL-480 SREATHR Haedl JRG 3 f56d 7g a1 sraum=an=n g,
(1) ¥ anfir 9 = S0 3R (2) 3 onfor & EE I 3R
(3) 1 %o SET 3TTE (4) & %ad S 38

Which one of the following statements is correct ?

A. India imported foodgrains under the act PL-480 before Green Revolution.
B. Wheat was the major component of PL-480 imports.

(1) A and B are correct (2) A and B are incorrect

(3) A onlyis correct (4) B only is correct
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71. . xS TR wm g T ST TRt Q0T S 9T dgE air Ay =7 quige Wi
R,
T, THRT W T TTen S T A auigerET WM SR,
. T Bremed) oere gemandl, FEvee-FdRie, ITeTen TTeTdl dneTes el
Tt Hord faem st o1mea ?
(1) o =nfor & (2) 1 i = (3) ¥ amU® (4) T T

A.  Ultraviolet region is the region of the spectrum of wavelengths, shorter than
violet colour.

B. ‘Infra-red’ region is the region of the spectrum, shorter than red colour.

C. The refractive index for the material of a prism is different for different colours.

Which of the above statements are correct ?

() AandB (2) AandC (3) BandC (4) None of these

72. ¥, AG0E AR TEGSE 9 FEA A< T A,
9. FRE g, TEgeE @ S a1 A,
®. Aufis a9 3 et @ Wi ST 389 TR,
iRl St faum 9 e 2
(1) A anvq (2) = 3mf % (3) @ anfor &% (4) R T

A. Natural gas is a hydrocarbon.
B. Methane is not a hydrocarbon.
C. Natural gas is a fossil fuel.

Which of the above statements are proper ?

(1) AandB (2) BandC (3) AandC (4) None of these
73. ‘T Sl w1 weEm shEEEEi SvEr faga v, =t sraTfere e
(1) ea AR (2) o foriy
(3) HASH =g (4) %A gl
The ‘Big-Bang theory’ is actually the hypothesis of the primeval atom, first proposed
by
(1) Albert Einstein (2) Georges Lemaitre
(3) Isaac Newton (4) Stephen Hawking
FroeqT HHTETS! T / SPACE FOR ROUGH WORK P.T.O.
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74. w9 B Ty @l S gl aaee 9 ?
(1) = 80% + i+ 10% + T 10% (2) HIE 80% + i 20%
(3) IR 80% + 4 20% (4) T 90% + T 10%

What is the composition of Brass alloy ?

(1) Cu80% + Zn 10% + Sn 10% (2) Cu80% + Zn 20%

(3) Cu80% + Sn 20% (4) Cu90% + Sn 10%
75. TRt .

(1) 3N o o (2)  offerhdm ggm AT

(3)  weUamIfdersh T TR (4) Rl HroraEl T

Phenol is a/an

(1) Aromatic compound {2) Aliphatic compound

(3) Heterocyelic compound (4) None of the above

76. oo of aroed wwamen Fegs e, Folge giea wwmges 8 2

A A 97

¥, FROEARY A

. AEd A

B HEF SANATEES

(1) &, 73 (2) #,93Mg
(3) 9, % s (4) a0« =d

In sterilization of water using bleaching powder. the sterilization action is due to
A Cly

B. HOCI

C. Nascent oxygen

D. CO,

(1) A,BandC (2) A,BandD

(3) B,CandD {4) All of the above
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77. WWW@WWWWWWW?

(1) Ferets & (2) S HEq

(3) kAT 19 (4) A W

Which primitive man had greater cranial capacity than the modern man ?
(1) Neanderthal man (2) Java man

(3) Peking man (4) Cro-Magnon man

78. Wil HIvET q&qd vl 37 =real ?

(1) & (2) = (3) N (4) =
Which of the following is an egg laying mammal ?
(1) Kangaroo (2) Platypus (3) Penguin (4) Whale

79. Eieliaish! Hivear YA 829 IR HOAT 3 ?

(1) g (2) W (3) W& 4) T
Four chambered heart is present in
(1) Frog (2) Crocodile (3) Shark (4) Lizard

80, UMW dhagl I SV WS ZeareaT 19T g3 gl ?

(1)« (B) (2) wieftsT® (Mo)

(8) hisTee (Co) | (4) g (Fe)

Leaf chlorosis is caused by the deficiency of mineral element.
(1) Boron (B) (2) Molybdenum (Mo)

(3) Cobalt (Co) (4) Iron (Fe)

81. geafa affetor=h Jafie one smaTie wata =l anft ARl Tgdt wefietd Sl sy

A ?
(1) s T g (2) s e
(3) afeied Tolen (4) =ed
Who discovered the best and most popular natural system of plant classification ?
(1) Bentham and Hooker (2) Carolus Linnaeus
(3} Adolf Engler (4) Charles Bessey
FroeqT BTG ST / SPACE FOR ROUGH WORK P.T.0.
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82. Sl AffeuTTdict Grefterden! TTATH H<eh vt ?

(1) < (2) F& (3) o (4) wBfa
Which of the following is a basic unit of plant classification ?
(1) Genus (2) Family (3) Order (4) Species
83. % THIUdIer Shicyam a BORE=a Al WEEd (TNEdl) JeEen 3.
(1) Segea =1 (2) Sie9= 3
(3) Siawed § (4) faeed &
is important for the absorption of calcium and phosphorus in the body.
(1) Vitamin A (2) Vitamin D
(3) Vitamin E (4) Vitamin K

84,  Sie=Tdie Hiven Wi IgEA: WA e, s e qois wgemEn ?
(1) vien serh
(2) Toaa ad®
(3) uieu F U] aeieh MM shadl
(4) ST gfeF= e
Egg is good source of complete food.“Which part contains maximum proteins ?
(1) Egg white
(2) Eggyolk
(3) Egg white yolk together with shell
(4) Egg does not have proteins

85. =7 I BeTEIS! FRIIYH (antifungal) TRV heft al.
(1) waffdea (2) S
(3) YR (4) sEitern oidTs
is used as an antifungal agent for fruits.
(1) Carbamethazole (2) Benomyl
{3) Thiosulphate (4) Benzoic acid
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86.

41

A%, | =E T| e (1 )
il T,

1 |w=m 80 70
2 |TE 60 40
3 | wan 50 60
4 |@mW 70 80
5 | o 40 50

E04

Fie qoAlaE o9 AR Sai @ g AT TR IAGASN 50% IeqeT FOG ool

e wior ? .
(1) wam anfor wefig
(2) vaIm anftr EW
(3) = sy rfET
(4) 3t anfor &
Sr. No. | Name of person Production (Quintals)
Jawar Wheat
1 Shyam 80 70
2 Rajiv 60 40
3 Santosh 50 60
4 Rahim 70 80
S Avinash 40 50

From the above table, find out the pair of persons who produce 50% of wheat and
jawar of all the persons.

(1)
(2)
(3)
(4)

Shyam and Rajiv
Shyam and Rahim
Santosh and Avinash

Avinash and Rahim

TeedT PIHTETS! SR / SPACE FOR ROUGH WORK

P.T.O.

www.adda247.com/mr | Adda247 ﬂ?'l'opprp

| https://t.me/Adda247Marathi


Dhruv Vashisht
Line

https://play.google.com/store/apps/details?id=com.adda247.app

E04

42

87. =N@ qui suardt weAfagTean (7) fswmht Faden suitsnren g fEe.

(1

(3)

G| P |?
K|?7|Q
R|?|L
G
F
2)
N
G
L
{4)
M

G
R
L

G
H

I

Choose the missing set of alphabets in place of (?) for completing the square.

(1)

{3)

G| P |7
K| ?]|Q
R|? | L
G
F
(2)
N
G
L
(4)
M
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88. HEgGH IO WM EH €8 MeAraeh! ufgelt M et 8 arwar arefi 80 km AT geedt
TR e st g ) Tt 9 asar aEft 100 km SR geel W @ Qe e

UHHERE Tordt amart g fondt arorar Sedter 2
(1) 8 a9 11 Jrean (2) 8 arEr g 12 arsar
(3) 4 qEE I 12 IS (4) 4 FHEER T 01 T

From Mumbai to Pune there are two buses. Out of these the first bus starts at
8 o’clock at 80 km per hour and on the same day the second bus starts at 9 o’clock at
100 km per hour. Then these two buses meet after how many hours and at what

time ?
{1) 3 hours later at 11 o'clock {2) 3 hours later at 12 o’clock
(3) 4 hours later at 12 o’clock (4) 4 hours later at 01 o’clock

89. mmmgﬁwwm.mmﬁwm@ém.m

R o qoaren e T ShE @A IR S Shell. SROWM 9™ T 600 I Fd, W
T WIR fadt 2

(1) ¥ 6,000 (2) 86,500
(3) ¥ 5,000 (4) T 4,000

Amit gave % part of his salary for home. From the remaining part, half was spent

for farming. From remaining portion, half was given to his son and the remaining
amount was deposited in the post-office. If he deposited ¥ 600 in the post-ofice, then
what will his salary be ?

(1) ¥ 6,000 (2) ¥ 6,500
(3 ¥ 5,000 (4) ¥ 4,000

90. W 3x2=-26, 6x4=—40 M 5x7=—22 AR 4x2=7

1) -34 (2) -—-43
(3) -36 (4) —42
If 3x2=-26, 6x4=—40 and 5x7=-22, then 4x2=7?
(1) -34 (2) -43
(3) -36 (4) —42
FTET HTTHIS ST / SPACE FOR ROUGH WORK P.T.O.

www.adda247.com/mr | Adda247 ﬂ?‘l’cﬁApp | https://t.me/Adda247Marathi


Dhruv Vashisht
Line

https://play.google.com/store/apps/details?id=com.adda247.app

E04 44 A

91. A ETd 52000 SO 0-30% SAedite WER R IR. B TUd 48000 AwiE 0-25%
adihe TR $R JE. C T804 50000 wnNdl 300 sTadihe TN HN AEd. T Gdla
FIVT kT e 979 g9 2t I8 2
(1) A>B>C {2) B<A<(C 3y C<A<B (4) B<C<A

In city A, out of the 52000 persons 0-30% have motor vehicles. In city B, out of 48000

persons 0-25% have motor vehicles. In city C out of 50000 persons 300 have motor
vehicles. Which of the following symbols correctly represents their relationship ?

(1) A>B>C (2) B<A<(C 3) C<A<B (4) B<C<A

92. TUH IH ATHAE G T SN e U, o Tredn faeg e At W anf Iteien s
@1 1 Suard omerr. = 27 Gehe U o). @ HYY awesrar fRdt Wi v st
g 7
{1) 1/3 2y 1/4 3) 12 (4) 1/6

A solid cube is painted red on two adjacent sides, orange on the sides opposite to red
surfaces and blue in the remaining two sides. It is cut inte 27 smaller cubes of equal
size. What fraction of the total surface area of the 27 cubes is not painted ?

(1) 173 (2) 1/4 (3 172 (4) 1/6

93. WA fauH q9g 9T
. T WY 9 0 TR g g e W fRoman e mer 1.
g, UH W U 9 TUW UEHE FU Aed fHaT T dRween aue Hid ane.
%, dunE R ean dier ag.
el Fatitiq Tcheres Fomr fred e ¥ 0
(1) Tertorde @9 99 Hia 3R (2) Form 9 Sy T FUR AR
(3)  ERuE @ ad W3 oTE (4) wOHE WY AR 981 AR

Check the following statements :

A. Ramesh and Kiran are of the same age or Ramesh is older than Kiran.

B. Sourabh and Sangram are of the same age or Sangram is older than Sourabh.
C. Kiran is older than Sourabh.

Which cenclusion can be drawn from the above statements ?

(1) Ramesh is older than Kiran (2) Kiran and Sangram are of same age
(3) Sangram is older than Sourabh (4) Ramesh is older than Sourabh
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94. W&l I gyER {5 ge 2001 o Fen. fer fomu awefias wiven Rasft a5 2

(1) WEr (2) TRER

(3) WA (4) HwER

Sharvari was born on Wednesday, the 5H of September 2001. On which day will her
third birthday be ?

(1) Sunday (2) Thursday

(8) Tuesday (4) Monday

95. W WO 15 frft fies Yen 9 e @@ 10 TR e Tm o g 5 foet T
Ted e F g qfeemen 10 frdt area SeA ateen. @ a9 souRE wven feden g fod

AT IR ?
(1) Ioten 15 fodt : (2) JFaten 10 fordt
(3) efamren 10 fodt (4) =feoren 15 foft

Ram went 15 km to the South from his house and then he turned to the East and
walked 10 km. Afterwards turning to the North, he walked 5 km and again turned to
the West and walked 10 km and stopped. Then at how much distance and in what
direction is Ram now from his house ?

(1) 15 km to the North (2) 10 km to the North
(3) 10 km to the South (4) 15 km to the South

96. YR 288 TAMT W IV EvIE FIfae. TS T Iad q& T wre fmue g
T . TS W R g o 2
(1) 12 (2) 16
3) 20 4) 24

In the school, 288 students were told to stand in rows. The number of rows are half
the number of students in each row. Then how many students are present in each

row ?
(1) 12 (2) 16
(3) 20 (4) 24
FoegT HHTHIS! ST / SPACE FOR ROUGH WORK P.T.O.
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97. vy Tumgran f3wnft Hvar sewer 35 2

2 8 6 9
7 3 6 3

1 1 (2) 24 (3) 8 (4) 48

Which number will come in place of the question mark ?

2 8 6 9
7 3 6 3

(1) 1 (2) 24 3) 8 (4) 48

98, g=gred AR A I o,

4y 10
Write appropriate number in place of the question mark.
(1} 5 (2) 7 3 9 4y 10
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99. A,B,C,D,E,F 3 88 i wdiuaut g7 o aasihdt AT Wesd ogd. E 81 D =
31T 9o AR, C 71 A N0 B =W 0edl 3R, F &1 E o0fir A =1 e 3. @ B <A1 S

TSI I IR ?
(1 A
(2) D
(3 C
4) E

Six friends namely A, B, C, D, E, F are sitting in front of each other in a circle and
are playing. E is on the left side of D. C is between A and B. F is between E and A.
Then who is on the left side of B ?

n A
2) D
@) C
4) E

100. X EXCEL = 93596 3@, PAINT = 74128 318« 70 ACCEPT =?
(1) 735961
(2) 455978

(3) 547978
(4) 554978

If EXCEL = 93596 and PAINT = 74128, then ACCEPT =?
(1) 735961
(2) 455978
(3) 547978

(4) 554978
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s e AR, s,

E04 - 48 : A

8) wyfEaes fafza Foen fafire arfte +=0 #m (% 396) TR, RAYasafaieT Iautisa 91 5
FIEEL Fo BT Hea™ o HIM FOGTEA LI et 38, 3 T TEA d FIHAR INGATSR T
T Feem whame) gren Ry siiey FodEEad Afufem-g2’ e SEdTan SRat
FOAT AT 9 I} HEA HAIC UF SuTeAl FETE=AT A1/ ¥ U g9R i e g
W EiEe.

(9) TR weAufrhadl s fafen il de Sueara Iugaen § WY T wsReETR
Ued I W@ 9R. WIE TARTEdTERt ATvEgE] IHEam ATdedl IRtieE Wi-1

TR uETEHE 1 FrET W w0 SEyas e,
agarusa
9. %, 2001, W€ A T HOGETS FON g TS FA ?
(1) =i gaHe aidt (2)  SvatEg R
(3) TS THEEA 1T (4) TIATSFHE TEA

o I A I (3) TS UHAHET WA A8 IR, e A1 We e I C(3) Bigel.
A @iCHATAT W36, 201 T sEHHe Q)7 ® age iuv omfed w4

9.55. 201, O @ @ @

a9 agiid d TRkl Wedeh YTl gHen IOGHRTh B qRETen S qUeser
ITUCFRA(E & 7 ShHIREENE Jaiid aqes il Srifhd & rEadl. et
FET T VTES A0 aTure, UfRre 3T v U e A,
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